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    &gh 

Neu; %yg;nghUs; 75>800.00 

Neu;f;$yp ntl;Ljy; 10k@&gh. 750/- 7>500  

 nghUj;Jjy; 15k@&gh. 500/- 7>500  

 G+h;j;jp nra;jy; 20k@&gh. 800/- 16>000 31>000 

Neupy; %yg;nghUs; Nke;jiy 12,750 

 ntl;Ljy; 10k@&gh. 1>500/- 15>000  

 nghUj;Jjy; 15k@&gh. 2>000/- 30>000  

 G+h;j;jp nra;jy; 20k@&gh. 1>750/- 35>000 80>000.00 

cw;gj;jpf; fpuak; 199>550.00 

tpw;gid tpiyapy; 15%  ,yhg vy;iy 35>215 

tpw;gid tpiy 234>765 

 





a) 

%yg;nghUs; fl;Lg;ghl;L fzf;F 

jpfjp tpguk; njhif &gh jpfjp tpguk; njhif &gh 

01-12-16 kPjp fPo; nfhz;L te;jJ 475>000 Dec - 16 Gj;JUthFk; Ntiy 450>000 

   31-12-16 kPjp fPo;; nfhz;L 

nrd;wJ 

25>000 

  475>000   475>000 

b) 

Gj;JUthFk; Ntiyf; fl;Lg;ghl;Lf; fzf;F 

jpfjp tpguk; njhif &gh jpfjp tpguk; njhif &gh 

01-12-16 kPjp fP. t 150>000 Dec - 16 Kbtile;j ,Ug;G 

fl;Lg;ghL 

625>000 

Dec - 16 %yg;nghUs; fl;Lg;ghL 450>000    

Dec - 16 $yp fl;Lg;ghL 175>000    

Dec - 16 cw;gj;jp Nke;jiy 

fl;Lg;ghL 

225>000 31-12-16 kPjp.fP.nr 375>000 

  1>000>000   1>000>000 

 

c)                             Kbtile;j ,Ug;G fl;Lg;ghL fzf;F 

jpfjp tpguk; njhif &gh jpfjp tpguk; njhif &gh 

01-12-16 kPjp fP. t 250>000 Dec - 16 tpw;gidf;fpuak; 705>000 

Dec-16 Gj;JUthFk; Ntiy 

fl;Lg;ghL 

625>000 31-12-16 kPjp fP.nr 170>000 

  875>000   875>000 

 

jpU ngNuuhtpd; nkhj;j tUkhdk;  &gh. 

Neu tPjk; 20eh * 8kzp * &gh 400/- 64>000.00 

cjtpahsu; gb   10>000.00 

Nrkpj;j Neuj;jpy; Cf;Ftpg;G  5kzp * &gh 400/- * 3 6>000.00 

nkhj;j tUkhdk;  80>000.00 

 



tiuaWf;fg;gl;l Z (jdpahh;) fk;gdp  

31.12.2016y; KbtilAk; fhyhz;Lf;fhd  tUkhd $w;W 

cs;slf;f fpua Kiwapy;  &gh.000 &gh000 

tpw;gid 70>000 myF * &gh.1>000/-  70>000.00 

(-) tpw;gidapd; fpuak;    

Muk;g ,Ug;G    

nr1 cw;gj;jp fpuak; 90>000 myFfs; * &gh.680/- 61>200.00  

(-) ,Wjp ,Ug;G 20>000 myFfs; * &gh.680/- (13>600>00)  

   (47>600.00) 

nkhj;j ,yhgk;   22>400.00 

epUthf nryT  6>400.00  

tpepNahf nryT  3>000.00 (9>400.00) 

,yhgk;   13>000.00 

Fiwthd Nke;jiy cs;slf;fk; (OH) nra; 2   (300.00) 

Njwpa ,yhgk;   12>700.00 

 

nra; – (1) 

cw;gj;jpf;fpuak;   &gh 

%yg;nghUs;  325.00 

$yp  275.00 

khWk; Nke;jiy  50.00 

epiyahd Nke;jiy &gh 3>300>000 / 110>000 30.00 

  680.00 

 

nra; - (2) 

Nkyjpf / Fiwthd Nke;jiy  &gh 

cz;ik Nke;jiy  3>000.00 

cwpQ;rg;gl;l Nke;jiy &gh 30/- * 90>000 myFfs; (2>700.00) 

Fiwthf cwpQ;rg;gl;l Nke;jiy  300.00 

 

 



tiuaWf;fg;gl;l X 

fhRg;ghjPL 

31 khu;r; 2017y; Kbtile;j fhyhz;Lf;fhdJ 

 [dthp - 17 ngg;uthp - 17 khu;r; - 17 

ngWtdTfs;    

fhR tpw;gid nr 1 864>000 576>000 1>080>000 

fld;gl;Nlhuplk; t#ypg;G nr 1 528>000 576>000 384>000 

nkhj;j ngWtdT 1>392>000 1>152>000 1>464>000 

    

nfhLg;gdT    

tpdpNahfUf;fhd nfhLg;gdT nr 2 420>000 540>000 540>000 

$ypAk; rk;gsKk; -- 180>000 180>000 

tpdpNahf nryTfs; 200>000 180>000 240>000 

Vida epUthf nryT 120>000 140>000 180>000 

nkhj;j nfhLg;gdT 740>000 1>040>000 1>140>000 

Njwpa fhR gha;r;ry; 652>000 112>000 324>000 

01.01.2017y; kPjp 175>000 827>000 939>000 

31.03.2017y; kPjp 827>000 939>000 1>263>000 

 

nr 1 – fhR tpw;gidAk; 

fld;gl;Nlhuplk; ngw;w fhRk; 

brk;gh; - 16 [dthp - 17 ngg;uthp - 17 khu;r; - 17 

tpw;gid myF 11>000 12>000 8>000 15>000 

tpw;gid tpiy 120 120 120 120 

tpw;gid 1>320>000 1>440>000 960>000 1>800>000 

fhR tpw;gid 60% 792>000 864>000 576>000 1>080>000 

fld; tpw;gid 528>000 576>000 384>000 720>000 

t#ypg;Gf;fs;  528>000 576>000 384>000 

 

nr 2 

tpdpNahfj;jUf;fhd 

nfhLg;gdT 

etk;gh; - 16 brk;gh; - 16 [dthp - 17 ngg;uthp - 

17 

khu;r; - 17 

nfhs;tdT myF 7>000 9>000 9>000 5>000 8>000 

nfhs; tpiy 60 60 60 60 60 

nfhs;tdT 420>000 540>000 540>000 300>000 480>000 

nfhLg;gdT   420>000 540>000 540>000 

 



Nkjh vd;rpdpah; (jdpahh;) fk;gdpapd; Nke;jiyg; gFg;gha;T $w;W 

tpguk; gfph;T 

mbg;gil 

nkhj;j 

fpuak; 
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Vida 

Nke;jiy 

xJf;Fjy; 9>550.00 2>950.00 3>050.00 2>380.00 240.00 930.00 

kpd;rhuk; fpNyhtw; 1>100.00 550.00 330.00 110.00 60.00 50.00 

Copah; 

Nrkyhgk; 

Copah; 

vz;zpf;if 

350.00 87.50 105.00 105.00 35.00 17.50 

thlif epyg;gug;G> 

rJu mb 

5>200.00 1>040.00 2>080.00 1>040.00 520.00 520.00 

Copah; 

fhg;GWjp 

Copah; 

vz;zpf;if 

600.00 150.00 180.00 180.00 60.00 30.00 

nghwp ngWkhd 

Nja;T 

nghwp fpuak; 7>200.00 3>960.00 1>800.00 1>080.00 360.00 - 

cgfuz ng. 

Nja;T 

cgfuz 

fpuak; 

300.00 70.00 140.00 55.00 17.50 17.50 

guhkupg;G 

jpizf;fsk; 

40% 30% 

30% 

- 517.00 387.75 387.75 (1>292.50)  

fsQ;rpak; 40% 30% 

30% 

- 469.00 626.00 469.50  (1>565.00) 

nkhj;jf; fpuak;  24>300.00 9>794.00 8>698.75 5>807.25 - - 

 

 

 



A) 
a) 

nra;Kiw fzf;F – 1 
tpguk; myFfs; ngWkjp tpguk; myF ngWkjp 

Neh; 
%yg;nghUs; 

108>000 189>000 ntspaPL nr 2 95>000 332>500 

Neh; $yp - 102>600 rhjhuz el;lk; 5>400 27>000 

Nke;jiy - 94>500 mrhjhuz 
el;lk; 

7>600 26>600 

 108>000 386>100  108>000 386>100 

 
 
nra;if 

nra;Kiw 1y; cs;sPL 108>000 

rhjhuz el;lk; 5% (5>400) 

vjph;ghu;f;fg;gl;l ntspaPL 102>600 

cz;ik ntspaPL (95>000) 

rhjhuz el;lk; 7>600 

 

nra;Kiw xd;wpy; myFf; fpuak; = cs;sPl;L fpuak; - ,og;gPl;L ngWkjp 

       vjph;ghu;f;fg;gl;l ntspaPL 

 

      386>100 – (5>400 * 5) 

       102>600 

       

      &gh 3.50 

b) 

nra;Kiwf; fzf;F 2 

tpguk; myFfs; ngWkjp tpguk; myF ngWkjp 

nra;Kiw 1 ,Ue;J cs;sPL 95>000 332>500 ntspaPL 91>000 546>000 

Neh;$yp - 105>750 rhjhuz el;lk; 4>750 23>750 

Nke;jiy - 127>000    

mrhjhuz ,yhgk; 750 4>500    

 95>750 569>750  95>750 569>750 

 



nra;iffs; 

cs;sPL nr 1 95>000 

rhjhuz el;lk; (4>750) 

vjph;ghu;f;fg;gl;l ntspaPL 90>250 

cz;ik ntspaPL (91>000) 

rhjhuz ,yhgk; (750) 

 

myFf;fpuak; nra; 2 = cs;sPl;L fpuak; - ,og;gPl;L ngWkjp 

         vjph;ghu;f;fg;gl;l ntspaPL 

     565>250 – (4>750 * 5) 

           90>250 

     &gh 6.00 

B) 
a) Neh; %yg;nghUs; fpua Kuz; 

 (Ne% fpK) = (epakf; fpuak; - cz;ik fpuak;) 

   = (11>000*&gh 1>500/- - 120>000 * &gh 140) 

   = 300>000.00   ghjfk; 

b) Neh; %yg;nghUs; tpiy Kuz; 

(Ne% tpK) = (epaktpiy - cz;ik tpiy) x cz;ik njhif 

   =    (150 - 140)   x 120>000Kg 

   = 1>200>000.00 rhjfk; 

c) Neu; %yg;nghUs; ghtid Kuz; 

(Ne% ghK) = (epak ghtid -  cz;ik ghtid) x epak tpiy 

   = (11>000 x 10Kg  - 120>000Kg)  x 150 

   = 1>500>000.00 ghjfk; 

d) Neu; $yp tPj Kuz; 

(Ne% tPK) = (epak tPjk;  - cz;ik tPjk;) x nrYj;jg;gl;l cz;ik kzpj;jpahyk; 

         10>000>000 / 500 

   =   (400    -    500)  x kzpj;jpahyk; 

   = 2>000>000.00 ghjfk; 

e) Neu; $yp tpidj;jpwd; Kuz; 

(Ne% tpK) = (epak kzpj;jpahyk; -   cz;ik kzpj;jpahyk;) x epak tPjk; 

   =    (11>000 x 2kzpj;jpahyk; - 20>000kzpj;jpahyk;) x 400 

   = 800>000.00 rhjfk; 

 




